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(1) ala+3) (2) —4x(2x—5)
=axa+tax3 =—4xrx2x—4xx(—5)
=a’+3a =-8x'+20x

(4) (2r+4y)x(—y) (5) 2a(a’+2a-3)
=2x X (—y)+dyx{—y) =2axa’+2ax2a+2ax(—-3)
= —2xy—4y* =2a*+4a’—6a

Mz TELTWET,

(—3a+1)x6a

=—3ax6at1x6a

18a*+6a

(6x—9) x %;r
2 2

=brx S r—9x5x

3 3

=4x*—6x
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(1) (10x*+7x)+x
_ 2 Lo L
=(10x"+7x) < —

X
1 1

=10x°% = +7rx —
xr x

=10x+7

(3) (4x*—6xy)+ 2,

3
=(4:L'2—6:£y}><%
=4x2><%—6xy><%
=6x— 9y

2. XoEhk P.16~P.17

(2) (8a’b—2ab®) +2ab

=(8a’b—2ab?’) x

1
2ab
1
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2ab 240" % 54p

=8a’bh %

o1 (a+b)(c+d) %, a+b=NEEBTHEL, # 1 DFHHEDFERE ERL I v,

(a+b)(c+d)
=N(c+d)

=cN+dN
=cla+b)+dla+b)
=actbctad+bd
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(M) (a+3)(b+5)

=ab+5a+3b+15

(3) (a+b)lc—d)
=ac—ad+bc—0bd

(2) (x—2)(y+6)
=xry+6xr—2y—12

(4) (r—a)ly—>b)

=ry—br—ay+ab
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(1) (x+1)(x+6) (2) (z+2)(x—T7) (3) (x+6)(x—6)
=x*+6xr+x+6 =x’—Tx+2x—14 =x’—6x+6x—36
=x’+7r+6 =x’—5xr—14 =x"—36

(4) (3z—1)(xz—5) (5) (—a+4)(2a—5) (6) (bx—y)(x+2y)
=3x*—15x—x+5 =—2a*+5a+8a—20 =5x*+10xy —xy —2y°
=3x"—16x+5 =—2a*+13a—20 =5x°+9xy—2y°
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(1) (a—b)(x—y+2) (2) (z+y+1)(x—y)
=alr—y+2)—blx—y+2) =(x+ty+tl)xxr+(x+y+1)x(—y)
=axr—ay+2a—bx+by—2b =x’txytr—xy—-y' -y

=ritr—y-y
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m (r+2)(x+1)
=xr’+(2+1r+2x1

=x’+3x+2

(3) (a—5)at+3)
=a*+{(=5)+3}a+(—5)x3

=a’-2a—15

(5) (r+8)(r—6)
=x’+{8+(—6)}r+8x(—6)

=x’+2xr—48
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(7)) (y—1)(y—10)

=y’ +{(—=1)+(=10)jy+(—1)x(-10)

=y’ =11y +10

(8)

=r’—9

(y+5)(y+4)

=y*+9y+20

(a—T7)a—2)
=a’+{(-T)+(=2)}a+(=T)x(=2)

=a’—9a+14

=y’+(5+4)y+5x4

(r+3)(x—3)

(r+3)°

=r’+{3+(-3)lr+3x(-3)

=r’+(3+3)xr+3x3

=x’+6x+9
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() (x+1)°
x4 ox1Ixgy+1°

=x’+2r+1

4) (@a—9)*
=a’—2x9xy+9°

=a*—18a+81

ROXZEL 230,

(1) (x+2)(x—-2)

=xr—2

=x’—4

a9

(4) (a—b)la+d)

:a2_b2

(2) (y+7)°
=y +2xTxy+7*
=y’ + 14y +49

(5) (a+b)?
=a’+2xaxb+b?

=a’+2ab+b?

(2) (xr—8)(xr+8)
:x2_82

=x’—64

3) (r—2)*
=’ —92x9xp+9°

=x*—dxr+4

(3) (3+y)(3—y)
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(1) (3a+2)(3a+5) (2) (ba—4)(ba+6)
=(3a)*+(2+5)x3a+2x5 =(5a)’+{(—4)+6}x5a+(—4)x6
=9a*+21a+10 =25a*+10a—24

3) (2x+5)* (4) (4x—y)*
=(2x)%+2Xx5%x2x+5° =(dx)’—2xdxrxy+y’
=42°+20x+25 =162°—8zxy+y*

(5) (3x—1)(Bx+1) (6) (6a+7b)(6a—7Th)
=(3z)"-1° =(6a)’—(7b)*
=9x°—1 =36a°—49b°

WetE s 2z, (52-3)° OEMZE, HO LSO L, R
COEMIZIELWTT R, BDe61E, IELCELES W, (5x—3)*
=(5x)*—2X3Xx+3*
=25x"—6x+9

IEL <z,

(5x—3)°

=(5x)?—2x3x5xr+3*

=252°—30x+9
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(1) (x+y+4)(x+y+1) (2) (x—y—3)(x—y—6)
=(x+y)’+5(x+y) +4 =(r—y)’—9(x—y)+18
=x’+2xy+y’+5x+5y+4 =r'—2zxy+y’—9x+9y+18

(3) (@a—b+3)° 4) (a+b—T)(a+b+T7)
=(a—b)*+6(a—b)+9 =(a+b)*—49
=a’—2ab+b*+6a—6b+9 =a’+2ab+b*—49
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M x2*+(x+5(x+1)
=z’ +(2°+6x+5)

=2r’+6x+5

(3) (y+2)y—7)-yly—4)
=(y*—5y—14)— (y*—4y)
=y’ —5y—14—y*+4y
=—y—14

(2) (at+4)*—(a—2)(at2)
=(a’+8a+16)—(a*—4)
=a*+8a+16—a’+4

=8a+20

4 2(xr-1)°"-(2x—-1)"

=2(x*—2x+1)— (4x*—4xr+1)

=2’ —dxr+2—4xr*+4xr—1

=—-2x%+1



